

## On BIQUADRATIC EQUATION with FIVE UNKNOWNNS

$$x^4 - y^4 = 2(z + w)p^2$$

**R.Anbuselvi;** Associate Professor, ADM College for Women, Nagapattinam<sup>(1)</sup>

**K.S.Araththi;** Assistant Professor, MNM Jain Engineering College, Chennai <sup>(2)</sup>

[anbuselvi134@gmail.com](mailto:anbuselvi134@gmail.com)<sup>(1)</sup>[ksaraththi@gmail.com](mailto:ksaraththi@gmail.com)<sup>(2)</sup>

**Abstract:** Biquadratic Equation is examined for getting non integral solutions. Two various kinds of different solutions to the equation analysed are found. Some fascinating results about the solutions are obtained.

### NOTATIONS

$obl_n$  = oblong number of order n

$t_{m,n}$  = polygonal number of rank 'n' with sides m

Keywords: Biquadratic , nasty number

### METHOD OF ANALYSIS

The cubic Diophantine equation with four unknowns to be solved for getting non – zero integral solution is

$$x^4 - y^4 = 2(z + w)p^2$$

The cubic Diophantine equation with four unknowns to be solved for getting non – zero integral solution is

$$x^4 - y^4 = 2(z + w)p^2 \text{ ----- (1)}$$

On substituting the linear transformations

$$x = u + v, \quad y = u - v, \quad z = 2uv + 1$$

$$w = 2uv - 1 \text{ ---- (2) in equation (1) ,}$$

$$(u + v)^4 - (u - v)^4 = 2((2uv + 1) + (2uv - 1))p^2$$

$$\Rightarrow ((u + v)^2)^2 - ((u - v)^2)^2 = 2(4uv)p^2$$

$$\Rightarrow ((u + v)^2 + (u - v)^2)((u + v)^2 - (u - v)^2)(2u^2 + 2v^2)(4uv)$$

$$\Rightarrow 18(u^2 + v^2)uv = 2(4uv)p^2$$

$$\Rightarrow u^2 + v^2 = p^2 \text{ --- (3)}$$

We obtain four different patterns of integral solutions to (1) through solving (3) which are illustrated as follows :

**Pattern 1:**

Let  $u = 2rs; \quad v = r^2 - s^2;$

The distinct integral solutions of (1) are expressed by,

$$x = 2rs + r^2 - s^2$$

$$y = 2rs - r^2 + s^2$$

$$z = 4rs(r^2 - s^2) + 1$$

$$w = 4rs(r^2 - s^2) - 1$$

$$p = r^2 + s^2$$

**Properties :**

- i.  $x(1, s) + y(1, s) \equiv 0 \pmod{4}$
- ii.  $x(1, s) - p(1, s) \equiv 0 \pmod{2}$
- iii.  $z(1, s) - w(1, s) \equiv 0 \pmod{2}$
- iv.  $3y(1, s) + 3P(1, s)$  is a nasty number
- v.  $x(r, 1) - p(r, 1) \equiv 0 \pmod{2}$
- vi.  $x(r, 1) + p(r, 1) = 4t_{3,r}$
- vii.  $2(x(r, 1) + p(r, 1))$  is a perfect square

**Pattern 2:**

Letting  $u^2 + v^2 = p^2 * 1$  and  $p^2 = a^2 + b^2$

Equation (3) becomes  $u^2 + v^2 = p^2 * \frac{(3+4i)(3-4i)}{25}$

$$= (a^2 + b^2)^2 * \frac{(3 + 4i)(3 - 4i)}{25}$$

$$\Rightarrow (u + iv)(u - iv) = (a + ib)^2(a - ib)^2 * \frac{(3 + 4i)(3 - 4i)}{25}$$

$$\Rightarrow (u + iv) = (a + ib)^2 \frac{(3 + 4i)}{5}$$

$$\Rightarrow (u + iv) = \frac{1}{5}(a^2 - b^2 + 2aib)(3 + 4i)$$

$$= \frac{1}{5}(3a^2 - 3b^2 + 6aib - 4ia^2 - 4ib^2 - 8ab)$$

Equating real and imaginary parts,

$$u = \frac{1}{5}(3a^2 - 3b^2 - 8ab)$$

$$v = \frac{1}{5}(6ab - 4a^2 - 4b^2)$$

Taking  $a = 5A ; b = 5B$

$$u = 3A^2 - 3B^2 - 40AB$$

$$v = -4A^2 - 4B^2 + 30AB$$

The distinct integral solutions of (1) are expressed by,

$$x = -a^2 - 7b^2 - 10ab$$

$$y = 7a^2 + b^2 - 70ab$$

$$z = (6a^2 - 6b^2 - 80ab)(-4a^2 - 4b^2 + 30ab) + 1$$

$$w = (6a^2 - 6b^2 - 80ab)(-4a^2 - 4b^2 + 30ab) - 1$$

**Properties for pattern 2:**

- i.  $x(a, 1) + y(a, 1)$  is a nasty number
- ii.  $x(a, 1) - y(a, 1) + z(a, 1) - w(a, 1) \equiv 0 \pmod{2}$
- iii.  $x(1, b) + y(1, b) + 80ab$  is a nasty number
- iv.  $x(1, b) - y(1, b) \equiv 0 \pmod{4}$

**REFERENCES:**

- [1] Dickson. I. E. ,, "History of the Theory of Numbers.., Vol 2. Diophantine Analysis, Newyork, Dover, 2005.
- [2] Mordell .L.J. " Diophantine Equations.. Academic Press, New York,1969.
- [3] Carmichael. R.D." The Theory of numbers and Diophantine Analysis.., NewYork, Dover, 1959.
- [4] Gopalan.M.A., Manju Somanath and Vanitha.N."Parametric Integral Solution of ..Acta ciencia Indica,Vol.XXXIIIIM,No.4,1261- 1265,2007.
- [5] Gopalan.M.A., Pandichevi.V."On ternary quartic Diophantine equation ..Pacific-Asian Journal of mathematics,Vol.2, No.1-2,57-62,2008.
- [6] Gopalan.M.A. Manju somanath and Vanitha.N,"Integral Solutions of .. Pure and applied matematika sciences, Vol.LXIX,No.1-2,149-152,2009.
- [7] Gopalan.M.A,Janaki.G, "Observation on " Acta ciencia indica,Vol.XXXVIM,No2,445- 448,2009.
- [8] Gopalan.M.A., Sangeetha.G "Integral solutions of ternary quartic equation ..Antartica .J.Math.,7(1) 95-101,2010.
- [9] Gopalan.M.A.,A.Vijayasankar,, "Integral solutions of ternary biquadratic equation ..Impact J.Sci.and Tech.Vol.4,No.3,47- 51,2010.
- [10] Gopalan,M.A,Vidhyalakshmi.S,Devibala.S,..Ternary quartic Diophantine equation ..Impact J.Sci.and Tech,Vol4,No 3,57-60,2010.
- [11] Janaki.G Gopalan.M.A...Observations on ..Antartica .J. Math.,7(2),239-245,2010.
- [12] Gopalan,M.A and Sangeetha.G.,Integral solutions of ternary non-homogeneous biquadratic equation ..Acta ciencia Indica, VolXXXVIIM,No.4,799-803,2011.
- [13] Gopalan,M.A,Vidhyalakshmi.S.Sumathi.G,.. Ontbeternarybiquadraticnon homogeneousequationIndianjournalofengineering,Vol.1,No1,37-40,2012.
- [14] Gopalan,M.A,Sumathi.G,Vidhyalakshmi.S,..Integralsolutionsofternarybiquadraticnon-homogeneousequation.. JARCE,Vol.6,No(2).97- 98, 2012.
- [15] Gopalan.M.A.Vidhyalakshmi.S Lakshmi.K "On the Biquadratic Equation with Four unknowns IJPAMS Vol.5.No.1,7377,2012
- [16] Gopalan,M.A,Sumathi.G,Vidhyalakshmi.S,..Integral solutions of ternary biquadratic non-homogeneous equation ..Archimedes J.Math,Vol.3(1),67-71.2013.
- [17] Gopalan M.A.,Vidhyalakshmi.S,Lakshmi.K "Integral Solutions of the non- homogeneous biquadratic equation with four unknownsInternational journal of computational journal of computational Engineering Research,Vol-3(4),51-56,2013